11l FEREER 1252252 00 R 0 % Aaf B4

IEFRESYFAE L(8L)

AL 2 A | B

Bopahiichmsie (2 ¢ BTRBFHF TRE) ?

L1 2maie— |3 8 80
&% 8 100
SRR 0 0
g 0 0
e U 0 0
kS 0 0
pdiEg 0 0
H 0 0

1.2 /e p—] 3t 0 0
& ¥ 0 0
FTRRRR P 0 0
i 0 0
Z2E I 0 0
ﬁli 0 0
pd1iTX 0 0
Hu 0 0

1.3 R /R R 0 0

1.4 paztpeis 2 20

ER 1 FREHA S @ ?

ERY SN 1 12.5
RS 1 12.5
FE B 142~ B A 2 25
F 8 iy 1 12.5
TRFR s RSB R Ly 0 0
7R i 0 0
£ a g3 By 0 0
T 1 12.5
& g P s 0 0
CESY PR 0 0
Fa g e 2 25




FORpPD % F A 0 0
T B R 0 0
B 4 %Ak § PRATER 0 0
A 52 Lk i 2 0 0
SREENE R ¥ PR 0 0
3 BREUET SABFSIY 11 E?
H1 B p 2 25
LB 3 2m PN 3 37.5
SR R R L 1 12.5
Q3BIMLII AR P 0 0
HABY LI 6B P 0 0
HOBY LY SR 1 12.5
i%ﬁ—{,a“ﬁ.@;ﬁ%‘llf% 1 12.5
4 EWMAIIETEE Y Tr LR ?
K RTA R 22000 mu T 0 0
HATE % 22001 & 3 25000 & 0 0
HATE % 25001 = 3 28000 ~ 0 0
HAT4 % 28001 =~ 3 31000 ~ 1 12.5
AT % 31001 =~ 3 34000 ~ 4 50
AT4 % 34001 = 3 37000 ~ 2 25
GAT4 % 37001 = 3 40000 ~ 1 12.5
HAT4 % 40001 = 3 43000 ~ 0 0
HATE % 43001 & 3 46000 ~ 0 0
HATE % 46001 & 3 49000 ~ 0 0
Y ATE % 49001 & 3 52000 ~ 0 0
Y ATE % 52001 & 3 55000 ~ 0 0
Y AT4 % 55001 =~ 3 60000 ~ 0 0
HATE % 60001 &~ 3 65000 ~ 0 0
HAT4 % 65001 =~ 3 70000 ~ 0 0
AT % 70001 =~ 3 75000 ~ 0 0
HAT4 % 75001 =~ 3 80000 ~ 0 0
374 % 80001 = 3 85000 ~ 0 0
HAT4 % 85001 = 3 90000 ~ 0 0
AT4 % 90001 = 3 95000 ~ 0 0
K AT4 % 95001 = 3 100000 ~ 0 0
ATE % 100001 ~ 3 110000 =~ 0 0
AT % 110001 ~ 3 120000 =~ 0 0




Nl

HRTE 120001 ~ 2 130000

|

HRTE 130001 ~ 2 140000

HFTE 140001 ~ 2 150000 ~

HRTE 150001 ~ 2 170000 ~

HFT4 8170001 ~ 2 190000 ~

HFr4 8190001 ~ 2 210000 ~

oO|lojo|jlo|lo|o|O

O|lo0ojl0Oo|jl0o|O|O | O

fATE % 210001 <rs
I

]
B e ey

5.1 ®mp I3

100

AT
5

50

25

{od

Nk

12.5

374

37

12.5

—
v & B%

:g:_t"ri

@

Eo
A

2 iR

&7

B

£ MEL

s oy B
37 (Fg /Tyli»

5.2 3|

1
z

T (Hk~BP AT

e

)

bl

T (Hk~BP A

&

%P RY

g

2k oy

=7

Bt

oO|jlojlojlojlo/lojojlol0oOo|o|l0oOl0Oj0o|l0O|l0OO|0O|lO|OO|O|lO|O|RP|O|RP|N|d|OC|

OOl 0Oj0Ojl0Ol0Oj0O|l0Of0O|0O|l0O/O|O|l0OjOjO|lOjO0O|O|O|O©O




S

S0
B £ M 0
6 &p#ApFDRALF?
6.1 &iz? 2 100
6.2 FRIEY AEFREA 0 0
6.3 FHFE- 3 0 0
BN AT F AT 0 0
NRFE 0 0
#® 0 0
aa AR 0 0
H 0 0
6.4 H451ivd -3t 0 0
6.4.1 FMARLEFHI FhE& AT RF?
R LT E 0 0
Fokimd 0 0
o P IR RE A R 0 0
1T AR 0 0
A 0 0
P RE R Y 0 0
LIERFABE 0 0
H 0 0
6.4.2 P APEEHIIED
EHive -1 B oup 0 0
EHiEe LB T 200 p 0 0
FHaiwd 2B w2 3B p 0 0
FHaiFd 3BT NI 4B 0 0
EHaive 4RI U3 6B p 0 0
Epaied -6 Lt 0 0
6.4.3 Hi 1A EHIIE L 0 0
T Bparlpad Ead 21 T8 fap PR LR ?
¥ £ 1 12.5
@& 4 50
3 2 25
* ek 1 12.5
Y BE 0 0

8

Epwmen1itp 3 A FZREHFELEEER?




7 & 25
* R 6 75
9 KHpPmIEOFERELAEZFP?
2H R R 1 12.5
AR 5 62.5
¥ 2 25
R R 0
L S S 0
10 Epaena fEp g rﬁ}%vﬁhé g T BB R B E D5
e HApRERG R
E 0 0
R 2 25
¥ 5 62.5
* i E 1 12.5
2EH 2B E 0 0
11 GaghmruTome TEY o | $HWR AL T 4§
E"‘?(?%‘Ei::? v 1 % 35)
B ¥ doay B 7 41.18
E R R R AR 2 11.76
KN F irikAe 3 17.65
A ERFY 2 11.76
A B E B 0 0
FTHEY 2 11.76
8RB E 0
&3 PRFE ~ PRIEE Y 0
Bery kg 0
H ;ﬂ':ﬁ 1 5.88
12 BEAZFZ 7 1Ffp N2 BEgE > KFEBS Y3 KA
oA E RS
12.1 3 -3+ 3 37.5
12.1.1 &1 1 33.33
BN S B Reieid 1 100
iR 0 0
12.1.2 Fi ¥  H s R 1 33.33
B 7 3@ 0
FaLFE R 0
£ERER 0




FFF R 0 0
WAk 1 100
T TR 0 0
H i 1 33.33
12.2 L5 —] 3 5 62.5
13 &8 ¥ 528§ Hormd Bl Ei?ééﬂﬁi&?’éﬂkﬁﬁﬂﬁ#?(?iﬁ

F31%3%)

13.1 5 —]3 1 10
* %%@‘zr‘%i&%‘é%‘«ﬁbl = (UCAN) 0 0
BOETR e E 0 0
Rt S SACHE: DEIRES & 1 100
ERRY 5 0 0
& F A P 0 0
KEEFEHEAIETE 0 0
FHp 2 T4 0 0
- | 0 0
¥k 13 0 0
H 0 0

13.2 23 —]3 9 90




